Skala 1:100:1000

Wréblewo X Radzymin

dr. kraj.nr50
. g
Legenda: g
S
S
[ee]
S|
121.007
teren el =
SEga
2= T
. 120.00f cld S
niweleta Els E
N[
: 119.00f =
row lewy R
i
[aF
réw prawy 118.001 .%w
- 1174
117.001 117.01
16.22
1 _a,o¢j [16.00 [15.98 @
S o
= wlot 115.53  wylot 115.45 hy
115.00t S Z
uom £
=
Laoor S
@) 3
113.00f < °
° =
= g
11200 & 8
3 =
i Y,
111.00f S
o
Ay
POZIOM ODNIESIENIA  110.00
Rodzaj nawierzchni istn. droga o naw. zwirowej istn. droga o naw. zwirowej
. <] <t < < < = = < )
Roznice rzednych 2|2 @ @ @ % % % g
: Sl 2 Q 2 2 2 Q =
Rzedne niwelety s|s S S S S S = %
gt SiE: 5 5 S 3 & ] 3
Rzedne istniejagce 3|< < < S S ¥ < =
H L=100.00m <25.00m
Elementy niwelety =L i
R=100.00m R=100.00m
m_®3®3ﬁ< ._“_»DMV\ L=P-3pbr12.29m [ T=13.54m | L=13.38m L=230.26m
S 9] P < S S S ]
Odleglosci g5 = 3 g g g g &
Iz z z z 3 3 z 2
Kilometraz mTo+ooo (Po+100 (Po+200 m?id




